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QUESTION 1
Which of the following descriptions about Trends for the Internet + Healthcare is incorrect?

A. Network-based hospital can help hospitals provide convenient services for patients ,using mobile apps on the cloud
platform.

B. Online treatment sites are mainly specialist at present

C. The integration of cloud technologies and platforms enable the development of regional healthcare platforms,
diagnosis stations, and pathology centers

D. The national healthcare info platform uses national healthcare DCs and various relevant business platforms to form
the private healthcare cloud and serve the public

Correct Answer: B

QUESTION 2

Based on Hot Migration, which time duration virtual machine migration could support?
A. less than 10 minutes

B. less than 3 minutes

C. less than 1 minute

D. less than 300 milliseconds

Correct Answer: C

QUESTION 3

Subnet mask is used to distinguish the network part and host part. In a subnet mask, the "0" represents network part,
and "1" for host part.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 4
What are traditional retail industry new targets? (Multiple Choice)
A. Improve convenience and experience

B. Improve efficiency and reduce costs
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C. Improve sales based on precision marketing
D. Reduce IT cost

Correct Answer: ABC

QUESTION 5

Which three layers SDN Architecture is divided into? (Multiple Choice)
A. Infrastructure Layer

B. Network Layer

C. Controller Layer

D. Application Layer

Correct Answer: ACD
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